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Complete the fraction review worksheet and use the answersg to color in each square.
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BROWN

1. The pan of brownies had é squares. 1 square
was eaten. What fraction of the pan of
brownies was left?

2. Kendyl ate 4 pieces of the banana. Adison ate 2
pieces of the banana. They ate the entire
banana. What fraction represents the WHOLE
banana?

BLACK

7. Arecipe coI;ed for g of a cup of chopped
furnips and o of a cup of diced tomatoes.
How many more cups of tomatoes did the
recipe call fore

8. Jason has fo walk % of amile fo get fo the
theater. Sam has to travel ;5 of a mile fo also get
to the theater. How much %ur’rher does Jason
have to walk than Sam to get to the theatere

GRAY

3. Jonis trying to decided whether or not
he wants 2 or 1 of the candy bar. Which
is biggera" 2

4. Lane drcmkg of her juice box. Saul drank
2 of his juice box. Which fraction is less2
3

PEACH

1
9. Laylaran GE laps. How is this fraction written
as an improper fraction?2

14
10. Kally drank 3 ounces of coffee. How is this
fraction written as a mixed fraction?

5. Lee walked 2 of a mile in the morning and
2 of amile in the evening. What
fraction of a mile did Lee walk in allg

6. Mr. Davis ate 1 of the pizzag, for breokfos’r,&
of the pizza for lunch and = of the pizza for
dinner. What fraction of the pizza did
Mr. Davis eat altogether?

YELLOW

11. Each side of a quadrilateral measures 2 in.
What is the perimeter of the quadrilateral?
(Write your answer as a mixed fraction)

12. Case has 25 pennies. This amount is what
fraction of a dollar?g (simplify your answer)
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